
 

 

k'’’’’’’’’gjf{; gu/kflnsf 

cf=j=2075÷076 sf] nflu /fh:js/sf b/x? 
tkl;n 
!=ljb]zL ;jf/L ;fwgx?sf] s/sf b/x? 
 

l;=g= ljj/0f /sd -d"=c=s/_ ;d]t 
!= Dff]6/;fOsn, :s'6/ #).– -tL; dfq_ 
@= O{ l/Szf,6]Dk' - tLg k+fu]||_, 6f+uf, nf]8 

l/S;f cflb 
#).– -tL; dfq_ 

#= Dff]6/, sf/, hLk, dfOqmf] hLk cflb &).–-;Q/L dfq_ 
$= 6]S6«/, 6]S6«/ -6«fnL_b'O{ k}+of;lxt &).–-;Q/L dfq_ 
%= 6]S6«/ -6«fnL_rf/ k}+of ;lxt *).– -c;L dfq_ 
^= a;, 6«s, nx/L, dfOqmf] a; cflb !%).– -Ps ;o krf; dfq_ 
&= 8f]h/, qm]g, nf]8/ cflb x]jL OSo"kd]06 @%).– -b'O{ ;o krf; dfq_ 
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ef8fdf rNg] 6]S6«/ rf/ k}+of-6«fnL_ 
ef8fdf rNg] 6]S6«/ b'O{ k}+of-6«fnL_ 
a;, 6«s, nx/L,dfOqmf] a; cflb 
8f]h/, qm]g, n]f8/ cflb x]jL 
OSo"kd]06 
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@= aflif{s ;jf/L s/ jf btf{ s/ 

qm=;+= ;jf/L ;fwg jflif{s jf btf{s/ ?= 

1 hLk   1500.– 
2 O{ l/Szf, ]̂Dk’’’’’’’  1000.– 
3 ]̂S «̂/ 2 k}+of-6«fnL_ 1200.– 
4 ]̂S «̂/ 4 k}+of-6«fnL_ 1500.– 
5 dfOqmf] a;, 2000.– 
6 a;   2500.– 
7 «̂s÷l^k/ 2500.– 
8 h]=l;=la=,8f]h/, qm]g, nf]8/ x]jL OSo"kd]06 3000.– 

 
#= xf6 ahf/ s/ 

qm=;+= ljj/)f xf^ahf/ s/ 

1 /f+uf÷a+u’’’ '/ df;'’ k;n        200.– 
2 Dff%f k;n        190.– 
3 ;’’’'s]sf] Dff%f k;n 70.– 
4 ;AhL k;n 70.– 
5 ld&fO{ k;n 90.– 
6 ;]n/f]^L 70.– 
7 vf]sf %fk|f 50.– 
8 cGo 70.– 

 
 
 



 

 

 
$=k6s] Aoj;fo s/ 
    !=  k|To]s c:yfoL 6x/f / km8af6 b}lgs===================================================================   ?=!%.— 
    @=  g=kf= n] tf]s]sf] 7fp+df tStf vf6 cfbL /flv 7fp+ cf]u6L Aoj;fo ug]{nfO{ b}lgs ======== =?=!%.— 
    #=  t/sf/L /fvL 7fp+ cf]u6L Aoj;fo ug]{nfO{ b}lgs================================================ ===== ?=!%.— 
    $= 7]nfuf8Laf6 Ps 7―fpaf6 csf]{ 7fp+df ;fg{ ;lsg] kmnkm"nsf 7]nfaf6 b}lgs ================= ?=!%.—   
    %=  t/sf/L 7]nf af6 b}lgs ====================================================================================== ?=!).— 
    ^=  OGhgåf/f kmnkm"nsf] /; / pv'sf] /; a]Rg] Aoj;fonfO{ b}lgs ===================================?=@).— 
    &= xftn] rnfpg] dl;gaf6 kmnkm"n / pv'sf] /; a]Rg] Aoj;fo rf6, abfd nfO{ b}lgs ========?=!%.—       
    *= l8 lk|mhdf ljz]if cfO:qmLd /fvL Joa;fo ug{] af6 =====================================================?=@).– 
    (, d]g/f]8sf] 5]p 5fpdf /]l8d]6 sk8f /fvL laqmL ug{] =====================================================?=@).– 
    !)=skf8L km]/Ljfnfaf6 k|lt lbg=========================================================================== =========?=@%.– 
 !!= d]nf kj{x?df nfUg] ahf/x?sf] xsdf dfly pNn]lvt b/ /]6df !)) k|ltzt yk lng] . 

5 l;kmfl/; / b:t'/ tkm{  

 ;fwf/0f  l;kmfl/; 100.  

 d'4f ;DalGw l;kmf/L; 150. 

 gful/stf l;kmfl/; a+zh 100. 

 gful/stf l;kmfl/; a}aflxs c+lus[t 2000. 

 gful/stf l;kmfl/; c+lus[t 5000. 

 c+u|]hLdf ul/g] ;fdfGo l;kmfl/; 250.  

 Gfful/stf k|df0f kq l;kmf/L; ;h{ldg b:t'/ 200. 

 c+u|]hLdf ul/g] kfl/jf/Ls ljj/0f / gftf sfod l;kmf/L; 1000. 

 Gfftf k|dfl0ft b:t'/ 25. 

 Gfftf k|dfl0ft :ynut ;h{ldg b:t'/ 475. 

 gftf sfod l;kmf/L; 300. 

 c+lzof/ k|dfl0ft 300. 

 kfl/jfl/s ljj/0f l;kmf/L; 250. 

 cu|]hLdf hGd, d[To', ljjfx / j;f]jf; k|df0fLt 500. 

 gfjfns l;kmf/L; 100. 

 g]kfnLdf hGd, d[To', ljjfx / a;fO{;/fO{ k|dfl0ft 100. 

 ;uf]ndf ePsf] k|dfl0ft 200. 

 cljjflxt k|dfl0ft ;h{ldg ;lxt 400. 

 JolStut 36gf btf{ h/Ljfgf 50. 

 JolStut 36gf btf{ k|ltlnkL 50. 

 Dffnkf]t /l;b k|ltlnkL  20. 

 cg'ej k|dfl0ft b:t'/ 500. 

 hUuff 5'6ofpg]  k|fljlws vr{ k|lt lsQf  2000. 

 hUuf /f]Ssf l;kmf/L; 200. 

 kmf]6f] k|dfl0ft / cGo k|dfl0ft  b:t'/ 200. 

 rfl/lqs k|dfl0ft ;h{ldg ;lxt 300. 

 vfg]kfgL h8fg, gfd;f/L, 7f+p;f/L 200. 



 

 

 ljB't h8fg, gfd;f/L, 7f+p;f/L -3/fo;L_ 200. 

 ljB't h8fg ;+:yfut 500. 

 ljB't h8fg, gfd;f/L, 7f+p;f/L ;fgf -pBf]u_ 500. 

 ljB't h8fg, gfd;f/L, 7f+p;f/L demf}nf -pBf]u_ 1000. 

 ljB't h8fg, gfd;f/L, 7f+p;f/L 7'nf -pBf]u_ 3000. 

 s'sf7 s6fg l;kmfl/; u/]sf] ! ?v b]lv % ;Dd  200. 

 s'sf7 s6fg l;kmfl/; u/]sf] % ?v b]lv dfyL 500. 

 6]nLkmf]g gfd;f/L       250. 

 3/ ;f/sf] l;kmfl/z lhNnf leq 300. 

 3/ ;f/sf] l;kmfl/z lhNnf aflx/ 500. 

 ;+rf/ ;DalGw ljleGg l;kmfl/;       500. 

 ;fj{hlgs d7dlGb/ u'Djf, dl:hb, rr{ kf6L kf}jf  100. 

 u}/;/sf/L ;+:yf, ;xsf/L / Snj sf] l;kmf/L; b:t'/ 500. 

 Joj;fo btf{ k|df0fkq b:t'/ 500. 

6 pBf]u / Joj;fo  ;+rfng, aGb nufot cGo l;kmf/L; b:t'/  

 3/]n' pBf]u ;h{ldg ;lxtsf  1000. 

 Joj;fo btf{ / ;+rfng l;kmf/L; ;h{ldg ug'{ kg]{ cj:yfdf 1000. 

 Joj;fo btf{ / ;+rfng l;kmf/L; ;h{ldg gug'{ kg]{ cj:yfdf 500. 

 Joj;fo aGb l;kmfl/z 500. 

 Joj;fo gfd kl/jt{g l;kmfl/z 300. 

 Joj;fo gfd;f/L, 7f+p;f/L b:t'/ 1000. 

 s[lif / Pu|f] ;DalGw l;kmfl/z / Joj;fo ;+rfng b:t'/ 500. 

 Dflb/f Joj;fo l;kmfl/; b:t'/ ljsf{] vf]nL las|L u|fld0f If]q 3000. 

 Dflb/f Joj;fo l;kmfl/; b:t'/ ljsf{] vf]nL laqmL zx/L If]q 4000. 

 Dflb/f Joj;fo l;kmfl/;  yf]s las|]tf lasf]{ gvf]nL u|fld0f If]q 6,000. 

 Dflb/f Joj;fo l;kmfl/;  yf]s laqm]tf lasf]{ gvf]nL zx/L If]q 8,000. 

 dlb/f Joj;fo k|lt Ph]G;L yk b:t'/ 2000. 

 s'6fgL lk;fgL Pj+ laqmL 1500. 

 ;]n/ ldn 2000. 

 lrgL ldn 25000. 

 ; M ldn 7000. 

 O{6f pBf]u lrDgL  10000. 

 8]/L pBf]u 1000. 

 slGqm6 pBf]u -Xo"dkfOk cflb_ 2500. 

 slGqm6 pBf]u -l/Ë cflb_ 1500. 

 xf]6n nh /]i6'/]G6 2000. 

 xf]6n  ;+rfng 1000. 



 

 

 Xofr/L pBf]u 2500. 

 Dff5f kfng 1000. 

 bfgf pBf]u 1000. 

 k]fN6«L kmd{ 1000. 

 6fo/ l/;f]lnª pBf]u 3000. 

 lu|n pBf]u 1500. 

 kfl6 k]n]; 2000. 

 ;6l/ª pBf]u 2000. 

 pv' qm];/ pBf]u 5000. 

 lrp/f pBf]u 1000. 

 d;nf pBf]u 1000. 

 Uof+; l8n/ Joj;fo ;+rfng 3000. 

 kfk8 pBf]u 1000. 

 rfpldg pBf]u 1000. 

7 3/ hUuf gfd;f/L b:t'/  

 d?jf ;?jf gfd;f/L b:t'/ 200. 

 3/ af6f] l;kmf/L; v/Lb laqmLsf] dfnkf]t sfof{non] d"Nof+sg u/]sf] 

ahf/ If]qsf] 

0=20 

 3/ af6f] l;kmf/L; v/Lb las|Lsf] dfnkf]t sfof{non] d"Nof+sg u/]sf] 

u|dL0f If]qsf] 

0=05 

 3/ af6f] l;kmf/L; c+z a08fsf] dfnkf]t sfof{non] d"Nof+sg u/]sf] 

u|fdL0f If]qsf] 

0=01 

8 Rff/ lsNnf k|dfl0ft tyf rf}x4L k|dfl0ft  

 u|fdL0f :t/sf] hUuf hldg Go'gQd 300. 

 ahf/ If]qsf] Go'gtd 1000. 

 n)—% s f ;Dd u|fld0f If]q 700. 

 ^ s f b]lv ! laufx ;Dd 1000. 

 ! laufx b]lv @ laufx ;Dd 1500. 

 @ laufx b]lv # laufx ;Dd 2000. 

 # laufx b]lv dfly 2500. 

9 gS;fkf;  ;DalGw b:t'/  

 gu/kflnsfsf] ahf/ If]q cGtu{t k|lt ju{km'6 5. 

 cfjf;Lo If]qsf] k|lt ju{ km'6 2.50 

 gSzf kf;sf] lgj]bg b:t'/ 500. 

 gSzf gfd;f/L b:t'/ 300. 

 gSzfsf] k|ltlnkL k|dfl0ft 500. 

 gSzf kf;sf] k|df0f kqsf] k|ltlnkL 200. 

 h:tf 5fgfsf] 3/ lgdf{0f ;DkGg l;kmfl/z 350. 



 

 

 Nff]8 j]ol/+u 3/ lgdf{0f ;DkGg 500. 

 cf/=l;=l;=k|m]d :6«Sr/ 1000au{ km'6 eGbf sdsf] lgdf{0fdf lgdf{0f 

;DkGg 

600. 

 cf/=l;=l;=k|m]d :6«Sr/ 1000au{ km'6 eGbf dflysf lgdf{0fdf lgdf{0f 

;DkGg 

800. 

10 j}b]lzs k|of]hgsf] nflu ;DklQ d"Nof+sg b:t'/  

 s= ?= !)  nfv ;Dddf 700. 

  v= bz  nfv b]lv kRrL; nfv ;Dd      1500. 

  u =klRr; nfv Ps b]lv krf; nfv ;Dd      2000.  

  3=  krf; nfv Ps b]lv krxQ/ nfv  ;Dd     2500. 

  ª=  krxQ/ nfv Ps b]lv Ps s/f]8 ;Dd     3000. 

  r=  Ps s/f]8   Ps b]lv Ps s/f]8 krf; nfv ;Dd      4000. 

  5=  Ps s/f]8 krf; nfv Ps b]lv b'O{ s/f]8 ;Dd      5000. 

 h=  b'O{ s/f]8 Ps b]lv b'O{ s/f]8 krf; nfv ;Dd      6000. 

 em=  b'O{ s/f]8 krf; nfv Ps  b]lv tLg s/f]8 ;Dd      7000. 

 `=  tLg s/f]8 Ps b]lv rf/ s/f]8 ;Dd       8000. 

 6f=  rf/ s/f]8 Ps b]lv kf+r s/f]8 ;Dd       10000. 

  % s/f]8 Ps eGbf dflydf 15000. 

11  Jfflif{s cfDbfgL k|dfl0ft b:t'/  

 )  nfv b]lv bz nfv ;Dd 500. 

 bz nfv b]lv dfly 1000.– 

12 a}+s k|of]hgsf] nflu ;DkQL d'Nof+sg  b:t'/ 
  

 s= ? !)  nfv ;Dddf 500. 

 v= bz  nfv Ps b]lv klRr; nfv ;Dd      800. 

 u =klRr; nfv Ps b]lv krf; nfv ;Dd      1500.  

 3=  krf; nfv Ps b]lv krxQ/ nfv  ;Dd     2500. 

 ª=  krxQ/ nfv Ps b]lv Ps s/f]8 ;Dd     3500. 

 r=  Ps s/f]8   Ps b]lv dfly      5000. 

13 jxfn s/  

 3/ jxfn s/ -k|lt Ps ;o sf] aflif{s_   2 k|ltzt  

 hUuf jxfn s/  -k|lt Ps ;o sf] aflif{s_  

 s[lif k|of]hg   0=75 k|ltzt 

 Jofkfl/s k|of]hg   1=5 k|ltzt 

14 o; k'gjf{; g=kf=cGtu{tsf ;fljssf uf=lj=;=x?sf xn 

k|of]u u/] jfkt 

 

 -s_ ;/sf/L sfof{no k|ltlbg  500.– 

 -v_ /f{li6«o ;+3;+:yf 700.– 

 -u_ cGt/f{li6«o ;+3;+:yf 1000.– 



 

 

 -3_ dN6Lldl8of k|of]u u/]df k|lt OSo"kd]G6 700.– 

 ङ) राजनिनिक दल िथा भाि ृसंगठि 500 

 r_ gu/kflnsf xn k|of]u u/]jfkt -gu/ If]q leq_ 1500. 

 5_ gu/kflnsf xn k|of]u u/]jfkt -gu/ If]q aflx/_ 2500. 

15 ;/;kmfO{ z'Ns g=kf=sf] ahf/ If]qdf  

 -s_ tLg tn] kSsL 3/sf] k|lt dlxgf 100.— 

 -v_ b'O{ tn] kSsL 3/sf] k|lt dlxgf 75.— 

 -u_ Ps tn] kSsL 3/sf] k|lt dlxgf   50.— 

 -3_ sRrL 3/sf] k|lt dlxgf 30.— 

 -ª_ o; g=kf= If]qdf ljB't kf]n h8fg k|lt kf]n  15.– 

 -r_ 6«fG;kmd{/ k|lt ju{ km'6 10.– 

 -5_ vfg]kfgLsf kfO{k k|lt ju{ ld6/ dfl;s  0.50 

16 xf]l8+u+ jf]8{{sf] aflif{s b:t'/ k|lt :Sjfo/ lkm6df -lj1fkg 

s/_ 

  

 Joj;flos b[li6sf]0fn] k|rf/ ug{] ;fOg af]8{ /fVg] kf]:6/ 6fF:g] lkmNdL 

kf]:6/ k|lt ju{ km'6  

100.– 

 sf7 l6gdf k|lt ju{ km'6  30.– 

 ;+3;+:yf k;nsf] kf]:6/ 200.– 

 7"nf k;nsf] lj1fkg s/ 100.– 

 ;fgf k;nsf] lj1fkg s/ 50.– 

17 dgf]/~hg s/  

 c:yfoL nfO;]G; lnO{ lel8of] k|bz{g Joj;fo ;+rfng k|lt lbg 250. 

 k6s] lyo6/,gf}6+sL,;s{; k|To]s k6s 300. 

 r6s b]vfpg],cf}ifwL a]Rg]-b}lgs_         50. 

 cGo v]n b]vfpg] b}lgs         50. 

 :yfO{ nfO{;]G; rnlrq xn 2000. 

 k"0f{ nIdL rnlrq dlGb/ k|lt # ;f] sf] 125. 

18 lglh :t/sf z}lIfs ;+:yf vf]Ng]  

 k|f= lj= tx  

 lg=df=lj= tx  

 df =lj= tx  

 pRr df= lj  

 k|lt sIff yksf nflu  

  gl;{u+ xf]d / 6«]lgË+ OG:Ro"6 10000. 

 gl;{Ë+ xf]d dfq 6000. 

 OG:Ro"6 dfq 4000. 

 6\o';g ;]G6/ 2000. 



 

 

19 Jfflif{s Joj;fo s/  

  -s_ xf]6n tyf nh tkm{ -jflif{s_  

 xf]6n b'O{ tn] / ;f] eGbf dfly cfjf;Lo  2500. 

  xf]6n Ps tn]  1500. 

 ld7fO{ k;n      1000. 

 
lrof tyf skmL    500. 

 
xf]6n tyf gf:tf k;n lasf]{ vf]nL dlb/f las|L u|fld0f If]q 1500. 

 
xf]6n tyf gf:tf k;n lasf]{ vf]nL dlb/f las|L zx/L If]q 2000. 

  -v_df5f, df;' k;n -jflif{s_  

 v;Lsf] sl6Ë df;' k;n    1000. 

 df5f sl6Ë df;' k;n 500. 

 a+u'/sf] sl6Ë df;' k;n 1000. 

 s'v'/f sl6Ë df;' k;n kSsL sf]7f 1000. 

 s'v'/f sl6Ë df;' k;n km8df 500. 

  -u_ ;fu;AhL tyf kmnkm'n k;n -jflif{s_   

  ;fgf] vf]sf 5fk|f k;n 500. 

  7'nf] kSsL k;n 1000. 

  -3_:jf:Yo ;]jf tyf lSnlgs -jflif{s_   

 cf}iflw laqmL k;n yf]s laqm]tf 3500. 

 cf}iflw laqmL k;n v'b|f laqm]tf 2000. 

 PS;/] k;n 1000.  

 rZdf k;n              750. 

 bf+t agfpg] lgsfNg] xfNg] k;n  tyf bGt lrlsT;fno  2000.  

 Pu|f]e]6 / kz'k+IfL cf}ifwL  1000.  

 cfo"j]{lbs cf}iflw tkm{ -jflif{s_ 1000. 

 lrlsT;s 800. 

 kz' lrlsT;s 800. 

 gl;{Ë xf]d tyf kf]lnlSnlgs ;+rfng 5000. 

 lkmlhof]y]/fkL Joj;fo ;+rfng 1000. 

 Nofa k/LIf0f ;]jf ;+rfng 1000. 

 cN6«f;fpG8 PS;/] ;]jf ;+rfng 2000. 

 -ª_ cGo Joj;fo s/ 

  l;nfO{ k;n @ d]l;g ;Dd 300. 

 l;nfO{ k;n @ d]l;g % dl;g  ;Dd 600. 

 l;nfO{ k;n % d]l;g eGbf dfyL 1000. 

 ;l6{Ë ;'l6Ë k;n l;nfO{ k;n 1000. 

 l;nfO{ d]lzg dd{t ug]{ k;n 500. 

 c6f] O{÷ a; df]6/ kf6{ lalqm k;n 3500. 

 a;,hLk tyf 6]«S6/ dd{t 2000. 

 df]6/;fOsn dd{t tyf kf6{;\ lalqm 1000. 

 ls/fgf k;n 7'nf] 2000. 

 ls/fgf k;n cln demf}nf 1500. 

 ;fgf] ls/fgf k;n 1000. 



 

 

 Vff]sf ls/fgf k;n 500. 

 5fnf h'Qf rKkn lalqm ug]{ k;n 1,000.  

 s:d]l6s >[uf+/ ;fdfg k;n 7'nf] 1200.  

 s:d]l6s >[uf+/ ;dfg k;n ;fgf] 800.  

 lukm\6 tyf pkxf/ ;fdfu|L ljqmL k;n 800. 

 ;6l/Ë ;]jf Joj;fo 3000. 

 ljB't ;fdu|L tyf df]6/ laqmL k;n 2000. 

 Vffg]kfgL wf/f nufot cGo k;nlaqmLk;n 1000. 

 k]G6 laqmL k;n -l8n/_ 1500. 

 Eff8f jt{g tyf cGo ;dfg laqmL k;n 2000. 

 6]lnlehg, lk|mh / sDKo'6/ laqmL k;n 2500. 

 l8; nfO{gsf] s]a'n Joj;fo 5000. 

 dnvfb lap lahg laqmL k;n 1000. 

 v/fb dl;g, Uof+; dl;g / Aof6«L rfh{ k;n 2000. 

 Kffg la8L k;n 500. 

 xhfd @ l;6 eGbf a9L 1000. 

 xhfd @ l;6 eGbf sd 800. 

 Ao'6L kfn{/ 1000. 

 ;fO{g af]8{ k]lG6Ë k;n 1000. 

 ˆn]S; lk|G6 k;n 1500. 

 3/ hUuf laj|mL s]Gb| 5000. 

 s'6fgL lk;fgL k]nfgL Joj;fo 2000. 

 lrp/f ldn tyf e'hf ldn 1000. 

 kz'k+IfL bfgfsf] ;Knfo;{ 1000. 

 bfgf pBf]u 1000. 

 l8; xf]d l8n/ 2000. 

 Pkm=Pd=/]l8of] Joj;fo 2000. 

 ;'lt{hGo Joj;fo 1500. 

 wd{sf+6f Joj;fo  1000. 

 8]/Lsf ;fdfg laqmL ug]{ k;n 1,000. 

 6]nLkmf]g k|lt 6fj/ 5000. 

 OG6/g]6 Joj;fo ;+rfng  2000. 

 -r_ ahf/df v/Lb laqmL k;n  

  sf+6f /fvL uf]bfd ug{] 7"nf]  4000. 

  sf+6f /fvL uf]bfd ug{] ;fgf] 3000. 

 km'6s/ vfBfGg vl/b ljqmL k;n 2000. 

 -5_ Ph]G;L tyf yf]s laqmL k;n -jflif{s_ Jofkfl/s j:t'   

 kDkLË;]6, h]g/]6/ k|lt l8n/ 2500. 

 r'/f]6, la8L h:tf w'd|kfg Ph]G;Ldf 3000. 

 
la:s'6 Ph]G;Ldf 1000. 

 ;fa'g Ph]G;L 1000. 

 6fo/ Ph]G;L 1500. 

 Rffprfp Ph]G;Ldf 1500. 

 Knfl:6s ef8f cflbsf] Ph]G;Ldf 1500. 



 

 

 sf]N8 l8«ª\; sf]s tyf k]K;L l8n/ 2000. 

 cGo Ph]G;L k|lt yk  500. 

 :jb]zL ljb]zL sk8f tyf cGo ;fdfgsf] yf]s ljqm]tf k;n 2000. 

 :jb]zL ljb]zL tof/L sk8f k;n 1000. 

 km]G;L tof/L ;fdfg sk8f >[Ëf/sf] ;fgf] k;n 1000. 

 sk8f /]l8d]6 On]S6«f]lgs km}G;L ;dfg k;n  1200. 

  sk8f k;n -yfg_ 1000. 

 ;fOsn ljqmL k;n 1000. 

 df]6/ ;fOsn las|L Ph]G;L 4000. 

 df]6/ ;fOsn kf6{ ljqmL tyf dd{t 1500. 

 6«ofS6/ laj|mL Ph]G;L 6000. 

 gfk tf}n 9s t/fh' 800. 

 s[lif sfo{sf] nflu ;fgf] kfj/ 6]n/ Ph]G;L 1000. 

 pRr :t/Lo dlb/f l8n/ 7000. 

 lgDg :t/Lo dlb/f l8n/ 5000. 

 k|lt Ph]lG;L dlb/f l8n/ yk 2000. 

 Uof; l;ln08/ ljqm]tf k;n 2000. 

 l6=le=tyf lk|mh ;d]tsf] l8n/ k;n 1500. 

 /]l8of] l8n/  1,000.  

 Jofl6« l8n/ k;n 1,000. 

 ljleGg ;fdfg ;Knfo;{  1000. 

 sDKo"6/ tyf kmf]6f]skL d]zLg tyf ;fdfg ljlqm k;n  2000. 

 8ljª, kmf]6f]skL k;n 500. 

 ;fOsn ljqmL tyf kf6{ k'hf{ 1,000. 

 Hof;n jf cf/g /flv sf;, tfdf, lkQnsf] ef8f agfO{ Joj;fo ug]{  1000. 

 -h_ d§Lt]n,  k]6«f]n,  l8hn kDk tkm{ -jflif{s_   

 k]6«f]n / l8hn kDk ;+o'St 4000.  

 l8hn kDk 2000. 

 
d§L t]n kDk 1000. 

  
-em_ ;fO{sn, df]6/ ;fOsn, l6=eL=8]s, /]l8of] tyf 38L dd{t 

k;n-jflif{s_   

  ;fOsn dd{t dfq 500. 

 
df]6/ ;fO{sn dd{t 1500. 

 
l6=eL==8]s, /]l8of] tyf 38L lalqm dd{t k;n 1000. 

  l6=eL=8]s, /]l8of] tyf 38L dd{t k;n 500. 

  /]l8of] tyf 38L dd{t k;n 500. 

 On]S6«f]lgS; ;fdfgx? laqmL k;n 2000. 

 On]S6«f]lgS; / On]S6«Lsn ;fdfg dd{t k;n 500. 

 6r{, 5ftf, l;nfO{ dl;g / cGo dd{t k;n 500. 

 ljB't ;fdu|L df]6/ k+vf dd{t k;n 1200. 

  -`_ pBf]u, sf/vfgf tyf ljqmL sIf ;d]t -jflif{s_   

 lrgL pBf]u tyf ldn 100000. 

 O{6f e§f lrDgL 20000. 

 6fon e§f pBf]u 3000. 



 

 

 pv' qm];/ pBf]u  5000. 

 ; M ldn cf/f ldn 15000. 

 ;]n/ ldn 7'nf] 4000. 

 ;]n/ ldn demf}nf 3000. 

 ;]n/ ldn ;fgf] 1500. 

 kfp/f]6L kfk8 agfpg] pBf]u 1000. 

 :6Ln kmlg{r/ pBf]u /  ljqmL sIf 2500. 

 sf7 kmlg{r/ pBf]u /  ljqmL sIf 3000. 

 cu/aQL tyf d}g aQL pBf]u 500. 

 Xofr/L pBf]u tyf ;f] ;+u ;DalGwt ljlqm sIf  2000. 

 a/km pBf]u tyf cfO;lqmd pBf]u 1500. 

 Xo"dkfO{k lkn/, ljB't kf]n agfpg] pBf]u  5,000. 

 RCCl/ª, udnf, Ans, v'§f agfpg] 2000. 

 KnfOp8sf] sRrf kbfy{ pTkfbg ug{] 5,000. 

 rfpldg pBf]u 2000. 

 rSn]6, 6kmL pBf]u 500. 

 gdlsg, bfndf]7 agfpg] 700. 

 u|Ln, ;6/ agfpg] pBf]u      3500. 

 l;/s, 8;gf agfpg] tyf laqmL k;n 1500. 

 Uff/d]G6 pBf]u 1500. 

 ;'g rf+bL uxgf agfpg] tyf laqmL k;n -7"nf]_ 3000. 

 ;'g rf+bL uxgf agfpg] tyf laqmL k;n -7"nf]_ 1500. 

 -6_ kmf]6f] :6'l8of], sn/Nofa, sDKo"6/ OG:Ro"6, df]afO{n h:tf 

Joj;fo  -jflif{s_ 

  

 sn/Nofa  1500. 

 kmf]6f]:6'l8of] 700. 

 lel8of] Sofd/f Joj;fo 1000. 

 kmf]6f]skL, n]ldg]zg  ug]{ tyf dd{t k;n 700.  

 6]G6 xfp; 1500. 

 j]G8jfhf k;n 1500. 

 l8=h]= ;fpG8 2000. 

 5fkfvfgf :6]zg/L 2000. 

 :6]zg/L tyf k':ts k;n 1500. 

 6«fG;kf]6{ sDkgL Joj;fo 3000. 

 lel8of] l;=l8=k;n 500. 

 xf8{j]o/ tyf lgdf{0f ;fdfu|L k;n s >]0fL 3000. 

 xf8{j]o/ tyf lgdf{0f ;fdfu|L k;n v >]0fL 2500. 

 dfj{n / 6fon k;n 2000. 

 l;;f,KnfOp8, ;gdfO{sf hGo k;n 2000. 

 v]nf}gf ;hfj6 k;n 700. 

 OlGhlgol/Ë tyf k/fdz{ sG;N6]G;L ;]jf 5000. 

 k]l6Ë cf6{ k;n 1000. 

 ufO{, e};L kfng Joj;fo 1000. 

 s'v'/f kfng Joj;fo 700.  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

20=gu/kflnsf If]q leq PsLs[t ;DklQs/ lgDg b/ /]^ cg";f/ jflif{s s/ lng] . 

qm=;+= ljj/)f k|:tfljt Plss[t 

;DklQ s/ 

Go'gtd ;Ldf 

1 ?= 1 b]lv 2 nfv ;Dd 30.00 30 b]lv 200 

2 ?= 2 nfv 1 b]lv 3 nfv ;Dd 50.00 

3 ?= 3 nfv 1 b]lv 4 nfv ;Dd  80.00 

4 ?= 4 nfv 1 b]lv 5 nfv ;Dd  100.00 

5 ?= 5 nfv 1 b]lv 6 nfv ;Dd  130.00 

6 ?= 6 nfv 1 b]lv 7 nfv ;Dd  150.00 

 Dff5f kfng Joj;fo 700. 

 df}/L kfng Joj;fo 500.  

 afv|f kfng Joj;fo 500. 

 b'w blx 3\o" klg/ ljqmL ug]{ tyf 8]/L ;+rfng 1000.  

 a;sf] l6s6 a'lsË sfp06/ 2000. 

 k'n xfp; Joj;fo 2000. 

 -7_ df]jfOn ljlqm tyf dd{t k;n / l;dsf8{ ljlqm k;n  

 l/rfh{ / l;d sf8{ ljqmL k;n 500. 

 df]jfOn ljqmL tyf dd{t k;n -7"nf]_ 2500. 

 df]jfOn ljqmL tyf dd{t k;n  -;fgf]_ 1000. 

 -8_ lghL If]qsf cWoog ;+:yfx?   -af]l8{Ë :s'n tkm{_   

 s=k"j{ k|f=lj=-lk=hL=_tx ;Ddsf 2000.  

 v= cfwf/e"t tx ;Ddsf 3000. 

 u= df=lj=;Ddsf 5000. 

 ª sDKo'6/ O{lG;Ro'6 2000. 

 r= sf]lrË 6o';g ;]G6/ 1500. 

 ;jf/L rfns tflnd ;]G6/ -8«fOleË OG:Ro"6_ 2000. 

 ljb]zL efiff k|lzIf0f s]Gb| / 6\o"zg 3000. 

 5= Joj;flos tyf k|fljlws lzIffno 3000. 

 xf]6n 6]«lgË ;]G6/ 2000. 

 -8_ lalQo ;]jf -jflif{s_   

 afl0fHo a}+s zfvf sfof{no 7000.  

 ljsf; a}+s tkm{  5000. 

 ;xsf/L a}s ;+:yf 1000. 

 aLdf sDkgL 4000. 

 d'b|f ;6xL sfpG6/, cfO{=Pd=O{=tyf /]ld6 ;]G6/ 2000. 

 -9_ lgdf{0f Joj;foL  

 s >]0fLsf /lhi6«8 7]s]bf/ 20000. 

 v >]0fLsf /lhi6«8 7]s]bf/ 15000. 

  u >]0fLsf /lhi6«8 7]s]bf/ 13000. 

  3 >]0fLsf /lhi6«8 7]s]bf/ 10000. 

  ª 7]Ssfsf] gfd;f/L ubf{ 5000. 



 

 

7 ?= 7 nfv 1 b]lv 8 nfv ;Dd  180.00 

8 ?= 8 nfv 1 b]lv 9 nfv ;Dd  190.00 

9 ?= 9 nfv 1 b]lv 10 nfv ;Dd  200.00 

10 ?= 10 nfv 1 b]lv 12 nfv ;Dd  250.00 250 b]lv 400 

11 ?= 12 nfv 1 b]lv 14 nfv ;Dd  300.00 

12 ?= 14 nfv 1 b]lv 16 nfv ;Dd  350.00 

13 ?= 16 nfv 1 b]lv 18 nfv ;Dd  380.00 

14 ?= 18 nfv 1 b]lv 20 nfv ;Dd  400.00 

15 ?= 20 nfv 1 b]lv 22 nfv ;Dd  500.00 500 b]lv 1000 

16 ?= 22 nfv 1 b]lv 24 nfv ;Dd  550.00 

17 ?= 24 nfv 1 b]lv 26 nfv ;Dd  650.00 

18 ?= 26 nfv 1 b]lv 28 nfv ;Dd  800.00 

19 ?= 28 nfv 1 b]lv 30 nfv ;Dd  1000.00 

20 ?= 30 nfv 1 b]lv 34 nfv ;Dd  1200.00 1200 b]lv 3000 

21 ?= 34 nfv 1 b]lv 38 nfv ;Dd  1500.00 

22 ?= 38 nfv 1 b]lv 42 nfv ;Dd  2000.00 

23 ?= 42 nfv 1 b]lv 46 nfv ;Dd  2500.00 

24 ?= 46 nfv 1 b]lv 50 nfv ;Dd  3000.00 

25 ?= 50 nfv 1 b]lv 60 nfv ;Dd  3500.00 3500 b]lv 10000 

26 ?= 60 nfv 1 b]lv 70 nfv ;Dd  4500.00 

27 ?= 70 nfv 1 b]lv 80 nfv ;Dd  6000.00 

28 ?= 80 nfv 1 b]lv 90 nfv ;Dd  8000.00 

29 ?= 90 nfv 1 b]lv 1 s/f]* ;Dd  10000.00 

30 ?= 1 s/f]* 1 b]lv 1 s/f]* 20 nfv ;Dd  12000.00 12000 b]lv 20000 

31 ?= 1 s/f]* 20 nfv 1 b]lv 1 s/f]* 60 nfv ;Dd  16000.00 

32 ?= 1 s/f]* 60 nfv 1 b]lv 2 s/f]* ;Dd  20000.00 

33 ?= 2 s/f]* 1 b]lv 2 s/f]* 20 nfv ;Dd  25000.00 25000 b]lv 60000 

34 ?= 2 s/f]* 20 nfv 1 b]lv 3 s/f]* 30 nfv ;Dd  40000.00 

35 ?= 3 s/f]* 20 nfv 1 b]lv 4 s/f]* ;Dd  50000.00 

36 ?= 4 s/f]* 1 b]lv 5 s/f]* ;Dd  60000.00 

37 ?=5 s/f]* 1 b]lv dfly hlt eP klg 2 ?k}of k|lt xhf/sf b/n] Plss[t ;DklQ s/ nfUg] 

hldg ;DalGw d'Nof+sg 

qm=;+=         hldg ;DaGwL ljj/)f k|lt lj#f d'No 

1= /fli «̂o cfjf; sDkgLn] Knflgé u/]sf] IBRDIf]qsf s ju{sf #*]/L k|lt la#f       2,00,00,000. 

2= /fli «̂o cfjf; sDkgLn] Knflgé u/]sf] IBRD If]qsf v ju{sf #*]/L k|lt la#f 1,60,00,000. 

3= k|ltef gu/ ahf/ If]q / ahf/ If]q;+u hf]l*Psf #*]/L k|lt la#f 1,30,00,000. 



 

 

4= k/f;g, lqe'jgj:tL, IBRD, a]nf}/L, wgu(L ?^df kg]{ #*]/L k|lt la#f 1,10,00,000. 

5= sfnf]kq] ;*sn] %f]Psf] hldg k|lt la#f -#*]/L of]Uo_ 40,00,000. 

6= sfnf]kq] ;*sn] %f]Psf] hldg k|lt la#f -v]tL of]Uo_ 30,00,000. 

7= u|fj]n ;*sn] %f]Psf] hldg k|lt la#f 15,00,000. 

8= sRrL ;*sn] %f]Psf] hldg k|lt la#f 12,00,000. 

9= ;*sn] g%f]Psf] hldg k|lt la#f  7,00,000. 

10= ;*sn] %f]Psf]÷g%f]Psf] hldg k|lt la#f -jf]*{/ ;+u hf]l*Psf], au/, v]tL cof]Uo_ 5,00,000. 

Eff}lts ;+/rgf ;DalGw d'Nof+sg 

qm=;+= #/ ejg ;DalGw ljj/)f k|lt ju{ lkm^ d'No 

1 cf/=l;=l;=ejg k|lt ju{ lkm^ 800. 

2 cf/=la=l;=ejg k|lt ju{ lkm^ 700. 

3 kSsL uf/f] l^g %fgf] k|lt ju{ lkm^ 600. 

4 sRrL uf/f] l^g %fgf] k|lt ju{ lkm^ 400. 

5 sRrL ejg ^fon vK^f %fgf] k|lt ju{ lkm^ 200. 

6 sRrL ejg km';sf] %fgf] k|lt ju{ lkm^ 100. 

PsLs[t ;DklQ s/sf ;DaGwdf cfly{s jif{sf] c;f]h d;fGt leq s/ aÚ’’emfPdf bz k|ltzt %’Ú^ xÚ’g], cfly{s jif{sf] cGt;Dd 

;DklQ s/ gaÚ’’emfO{ jSof}tf /xg uPdf ;a} /sd df klxnf] jif{sf] jSof}tfdf bz k|ltzt, bf];|f] jif{ jL; k|ltzt, t];|f] jif{ 

tL; k|ltzt, rf}yf] jif{ rfnL; k|ltzt, kf+rf} jif{ krf; k|ltzt / ;f] eGbf dfly ;f&L k|ltzt ljnDa z 'Ns nfUg]% . 

-21_o; k'gjf{; gu/kflnsfsf] :jfldTjdf ^fpg ahf/ / IBRD ahf/df /x]sf ;^/sf] ef*f b/ rfn" cf=j=2075.076 b]lv lgDg b/df sfod 

ug{ k]z ul/of] . 

-s_ ;fljs lqe'jgj:tL uf=lj=;=^fjg ahf/ k|lt ;^/ l;u+nsf]=======================?=1,500. 

-v_ ;fljs lqe'jgj:tL uf=lj=;=^fjg ahf/ ;^/ / k%f*L hf]l*Psf] sf]&fsf] ==?=2,500. 

-u_ IBRDahf/ l;+un ;^/sf]================================================================= ?=2,000. 

-#_ IBRDahf/ *an ;^/sf]=================================================================== ?2,300. 

k'gZrM dflypNn]v x'g 5'6 ePsf] lzif{sx?df /fhZj k/fdz{ ;ldltsf] l;kmfl/z jdf]lhd s/ lgwf{/0f u/L nufO{g] 5 . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     



 

 

k'gjf{; gu/kflnsf 
 lgsf;L x'g] dfnj:t'x?sf] s/sf b/x? 
 

l;=g= dfnj:t'x?sf] gfd   O{sfO{  k|lt cf=j= )&$÷)&% sf] s/ 
!= pmg–k|fs[lts, s[lqd, hu/ s]=hL= .!) k};f 
@= Tff]/Lsf] lkgf s]=hL= .@% k};f 
#= h8La'6L -k|rlnt jg lgodfjnLdf tf]lsPsf]_  d"Nosf] bz k|ltzt 
$= jgs; - v/, jfljof], dnxg kQf, 5\jfnL, k/fn, 

juf;, lgufnf], nf]Stf, k6]/, clDn;f], s'rf], a]t_ 
6«s, 6«ofS6/ 

 uf8f 
!@% 
%) 

%= af+; uf]6f !.@% 
^= l;;f}, vo/, ;fn -r§f, uf]lnof, lr/fg_ 6«s 

 6«ofS6/ 
uf8f 

%)) 
#)) 
!)) 

&= cGo sf7 -r§f, uf]lnof, lr/fg_ 6«s 
 6«ofS6/ 

       uf8f 

#)) 
!%) 
%) 

*= s_ 9'+uf 
v_ lu§L, jfn'jf, u|]en, / /f]8f 
u_ e/fg afn'jf 

So"=ld= 
So"=ld= 
So"=ld= 

^) 
%% 
#) 

(= :n]6÷lj5||\ofpg] 9'+uf So"=lkm= @ 
!)=  df6f] So"=ld= %) 
!!= ;'tL{sf] a08n, st/g g;n s]=hL= .@) k};f 
!@= ;fnsf] laof s]=hL= .&% k};f 
!#= ;Nnfsf] l;D6f s]=hL= .@% k};f 
!$= kTy/, sf]Onf s]=hL= .!) k};f 
!%= wfg k|lt SjL= ?= % 
!^= ux'+ k|lt SjL ?= % 
!&= rfdn 

s_ dl;gf] 
v_ df]6f] 

 
k|lt SjL 
k|lt SjL 

 
?= ^ 
?= % 

!*= ds} k|lt SjL ?= $ 
!(= bnxg÷t]nxg k|lt SjL ?= * 
@)= /fO; a|fg k|lt SjL ?= !@ 
@!= v08f, v'bL, slgsf k|lt SjL ?= !) 
@@= e';f k|lt 6«s 

k|lt 6«ofS6«/ 
?=!%)) 
?= !))) 

@#= cb'jf k|lt SjL= ?= ^) 
@$= n;'g k|lt SjL= ?= ^) 
@%= s'v'/f / xf+; -rNnf afx]s_ k|lt uf]6f ?= # 
@^= c08f k|lt qm]6 ? =!.%) 
@&= kz'k+5L sf] cfxf/ k|lt SjL ?= % 
@(= k/jn k|lt SjL ?= % 
#)= s]/f 

 
 

     6«s 
     6«ofS6«/ 
     Uff8f 

 
?= #)) 
?= @)) 
?= !)) 

#!= u+'8      k|lt SjL= ?= !@ 
#@= lrgL÷vf+8;/L k|lt SjL= ?=!% 
##= O{6f  k|lt xhf/ ?= &% 

mailto:.@%25


 

 

#$= sYyf k|lt SjL= ?= % 
#%= dnfl;; k|lt SjL= ?= ^ 
#^= s'l/nf]  k|lt SjL= ?= !) 
#&= ldg/n jf6/ af]tn .!) k};f 
#*= ldg/n jf6/ k|lt hf/ .%) k};f 
#(= j];f/ k|lt SjL= ?= @) 
$)= asf; u§' k|lt 6g ?= !)) 
#(= v;L, af]sf, a+u'/ cflb uf]6f ?= %) 
$)= /f+uf, e}+;L, uf]? cflb uf]6f ?= !)) 
$!= Dff5f k|lt SjL= ?= !)) 
$@= xf8 k|lt s]=hL= ?= @ 
$#= l;u k|lt s]=hL= ?= @ 
$$= v"/ k|lt s]=hL= ?= @ 
$%= 5fnf -7"nf]_ uf]6f ?= !)) 
$^ 5fnf -;fgf]_ uf]6f ?= &% 

  




